Two week Assignment
Problem 1: Using the Selection Control Structure if…else
1) Design a program that prompts the user to enter three names separated by spaces. Using compound and nested if statements, display the names in alphabetical order. Name the .cpp file to be NameSort.cpp.

The following is a copy of the screen results that might appear after running your program, depending on the data entered. The input entered by the user is shown in bold.
Please enter 3 names: George Joe Adam
The alphabetical order of the names is:

Adam

George

Joe 

2) Test your program with the following three inputs respectively. 

Rerun NameSort.cpp with the names entered in this order: Joe Adam George

Rerun NameSort.cpp with the names entered in this order: Adam Joe George

Rerun NameSort.cpp with the names entered in this order: George Adam Joe

Problem 2: Using the Selection Control Structure switch
Write a program that prompts the user to select one of three flooring options for a home to be built. The program also provides a description of the flooring options. Using the switch statement, display the option the user chooses, the description, and the price.

The user should be prompted with the following information:

_ Option 1: Scored concrete for $3000

_ Option 2: Carpeting for $5000

_ Option 3:Wood floors in the living areas, carpeting in the bedrooms, and tile in the bath

areas for $10,000

The following are copies of the screen results that might appear after running your program,

depending on the data entered. The input entered by the user is shown in bold.

Enter the number that matches your flooring choice:

Option 1: Scored concrete for $3000

Option 2: Carpeting for $5000

Option 3: Wood floors in the living areas, carpeting in the bedrooms, 
          and tile in the bath areas for $10,000

1

You chose Option 1: Scored concrete for $3000
The following shows another set of possible input and output:

Enter the number that matches your flooring choice:

Option 1: Scored concrete for $3000

Option 2: Carpeting for $5000

Option 3: Wood floors in the living areas, carpeting in the bedrooms, 
          and tile in the bath areas for $10,000

2

You chose option 2: Carpeting for $5000
The following shows another set of possible input and output:

Enter the number that matches your flooring choice:

Option 1: Scored concrete for $3000

Option 2: Carpeting for $5000

Option 3: Wood floors in the living areas, carpeting in the bedrooms, 
          and tile in the bath areas for $10,000

3

You chose Option 3: Wood floors in the living areas, carpeting in the

bedrooms, and tile in the bath areas for $10,000
The following shows another set of possible input and output:

Enter the number that matches your flooring choice:

Option 1: Scored concrete for $3000

Option 2: Carpeting for $5000

Option 3: Wood floors in the living areas, carpeting in the bedrooms, 
          and tile in the bath areas for $10,000

4

You chose Option 4

Your selection is not available.
Problem 3: Write a program:

Input three integers from a user (call them a, b, c).

Output the message that correctly describes the numbers:

– "Three negative"

– "Two negative and one non-negative"

– "One negative and two non-negative"

· "Three non-negative"
